- Gm
FHVQO( 3
OQV\.
H
G

S fcny)
= ((xg)

e
pe !




. N ' CZ’
%ﬁg5  Onfin 18 Q5o colled

Cphce( TOQ‘\‘”\JV Q. & palnk

‘oolere mulbple. (Sacline
C\\/\ C‘Q)‘&—\QC{\ -

C (Qeuitik E X N
el f(x 7') = ‘*-—%—(— AN
LC g(x=X)~> el

Clecl Siceied, - Tee

7——749__‘ o QXQCH/ Oe Curpe

Tooyies\ @z\rfauaob\ 67()}/
s pu S?Q\/\ on ( QY&
fr Qmoted ﬁQSV\(PQ i;l

W<~ Lolyes

y=9:

S Camn FO u[:wgqéu,\
(non

MniQuene sy
Sb@m\om;y Qe For

CrR’” o~ Sholler
Volues oF x

)



§ orelstrcal V\’\\\CM\OdJ\ &

For S§pechc (¥ orger
T — T
oSty

i

S\CPQJ_Q[O(Q Qe

_jﬂvofdel‘ P (o S’QPQFQB(Q
;vF f(’ Carm bﬁ C)QH‘U"QV\ [‘\y\
tHie Form\

3(?)5%?;: (%)
/g(?(x))gs?(:ow = jh(x/ AX

chonpe of Venalkles

jw) Ay = ]“WO’W%@@

ﬁbr O\ o;—bfémr7 conPromd- g/
(A Feprohion A




s far x) . D~
ok casd 70
AOTain on thmfo(r‘cf-ﬁ

Sk
Cxcanole
%ﬂ%‘zm——? revisy fdf
4(xX=) =0
Ly
gk ox
9(3) h (%)
/?oha, = [~ < X
L
T £ =fH >0






XX =e <
| T d o
o CEFE =
Tl7) n ()
K} <
0 &y =/ A LA
o= 0 rp

L C o. P

- GD ?(KQ) :Brg @\@J}/
VQCH*QFV\OH\/Q u)g7 o \3\4,‘(@(

W~ fhe D CL0 De ’[}m(‘\k [\V\"‘G‘DFQ(



(9 >< _ @f'

f@ker@k? = jQ?(OlX

o
Should cone Has o8
107
/ AZOQ“Z jojga{)f
'R

(] . X
€? "“e,kb( =~ Q}T*e



iilﬁ érde(‘ ODC-:S\ @/[-
oo fenedu s € pe.

———

DE™ 15 of homap Erpe
F - con be coptremn oy

EE

T Substituie

B = 2y
Hx) =< 2

S =2 gt 1) |

.

e fr 20x) o sepamble
Crpe

g*% _ ﬂ(fﬁ%

G



L dx &\fo,u: o
br)~r <
PO '7T FErorE TR/
Crcarple;

X %O
ek =9 F 9 S,/
) !
b o)) ~
e
e
T EX = (X)X
e T

Krrgt o 2= o



@

Yd?\
] Lde /ﬂo\x

\»ev\ X[+ C = X

| |'|
R |

100 = -
[ On X1 +
&_)_”{_)_Ec;_’; o poﬁehh‘oﬁ W&f\obz@ry\ of—
= O

® TThe. el RDQV\ \d,-\_d

1S ok ”’\C/Q,L&[QO‘L (N
e above zLQm,/
of- JokNyS

/



Lireor (S\Jr arder OO0 &

Stordord forme

[
T FPY3 = 200
C\QV\ he Holved b7
[V\(—QQCFQRV\(J\ FQC?\Q[\;
Foekpl> o0 by Sore
feot- 7'?</ £ - |
/’\& V\ILQ&:FQ[-Q CQ./‘-E‘ X~

j(a(/«fgv@)&xa/ﬁ? oy
doop=p

= \a,//\
M?’@ QhOGSe/JU(/



S ok QZ;
%7% = ()(?T)/U‘ Cﬁ‘)

Thes (\g Q &Qfei\c‘b(ﬁ QOG“*

R)r /AD()

Then the  inteprol become

At %P(jp(w)o\x)

NJoke C@V\S{\ QF\ r*hl'e-d?f\gkgk’\
d0eSn 't Matier here



%\uUw‘P
[~ D=
mﬁe“cmpq h b? Vel

J/‘UW J o
fev 23]

r\"‘\ S COY\\NQVH\

Creomple: D
(\
7\?53’ :\/\/\3
&) == R—
X 7K/ = x

D inse
@rQL‘f\UF fo chor

)= QW(/WN)O\)






